
SAP ABAP table S150 {W&S: Rough Workload Estimate}

S150

MANDT [CLNT (3)]

SSOUR [CHAR (4)]

VRSIO [CHAR (3)]

SPMON [NUMC (6)]

SPTAG [DATS (8)]

SPWOC [NUMC (6)]

SPBUP [NUMC (6)]

LGNUM [CHAR (3)]

VZTTG [CHAR (1)]

WARTYP [CHAR (1)]

BELTYP [CHAR (3)]

METYP [CHAR (1)]

VHART [CHAR (4)]

TIMEL [CHAR (4)]

GEWEH [UNIT (3)]

VOLEH [UNIT (3)]

T000

MANDT [CLNT (3)]
 S150-MANDT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 S150-GEWEH = T006-MSEHI 
{0,1}

1
 S150-VOLEH = T006-MSEHI {0,1}

1
T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 S150-LGNUM = T300-LGNUM 
0..N0..N

TC37A

MANDT [CLNT (3)]

SCHGRUP [CHAR (2)]

KAPTPROG [CHAR (4)]

ENDDA [DATS (8)]

 S150-TIMEL = TC37A-KAPTPROG 

0..N

1

TMET

MANDT [CLNT (3)]

METYP [CHAR (1)]

 S150-METYP = TMET-METYP 

0..N

1

TVTY

MANDT [CLNT (3)]

TRATY [CHAR (4)]

 S150-VHART = TVTY-TRATY 

0..N

0..N


